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i 1. The term “Basic™ in the name Logan Basic 'T'echnique, refers to:
a. This is the beginning, Lechnique and you will go on to learn more advanced

_ lechnigues.
"b.t The base of the spine, the sacrum.
¢, Computer terminology, s, (4, Apple, ele

d. The start of this school, the basic plan. Now we are more advanced.

VZ, The discoverer of Basic Technique was:
a. Dr. D.D. Palmer
EN. Tofiness, D.C.
¢. Vinlon Logan. D.C.
.4’ H.B. Logan, D.C.
¢. Greorge Goodman, D.C.

The sacrum is:
a. Wider on the anterior than on the posicrior
b. Wider on the posterior than on the anterior
-¢. Wider on the caudal end than on the cephalic end.
d. Mosi caudal portion of the spinal column,

%

4 The erctor spinae muscle group has how many main divisions on cach side of the
body?

a. One
b Two
¢. Three
4 Four
e Five

Vv The sacram has how many segments?

a. One
b, Two
¢. Three

d. Four
c.' Five




[image: image2.jpg]6. The sacroifiac joint has how many ligaments?
1. One
by Two
@ Three
d. Four
¢. FPive

R Which of the following is the most lateral of the erector spinae group?
‘a. [liocostalis
b, Longissimus
<. Spinalis
4. Semispinals

:§_/ Which of the following has a subgroup that attuches to the occiput?
a. liocostalis
b, Longissimus

Spmalis

@ The onfy muscle that arises from the anterior side of the sacrum is?
a Gluteus maximos
b, Ereclor spinac
c. Sartoriu
K.Y Piriformis
¢ Tensor Fascia Lata

47 When the sacrum nutaics, the base of that side of the sacrum:
@y Moves forward and inferiorward
. Moves backward and superiorward
¢. Moves forward and superiorward
d. Moves backward and inferiorward.

A" The normal height loss during a day by a human in and upright position, due to
the daily thinning of the discs duc to gravitational foree in the spine is:

a. beom
b Jem
¢ lhem
{d) 2 em
& 2'em.

#2. Which is the first position that you have the patient for spinal examination?
“a.} Standing
b Sitting
c. Prone
d. Supine




[image: image3.jpg]13. The position of the ankle rest for a patient that has & hypolordosis
fu.d On the first noteh closest Lo the loor.
h. On the second noich
@ On the third notch, farthest from the floor.

14. The term “ankylosis” refers to”
w, Slight fixation
b. Complete fixation
3 Compleie fixation with ossification
@ From slight io complete fixation

’ni/l'hcj most common sacral subluxation is:
ta. Unilaterally anteriot/inlerior
b. Unilaterally posterior/supetior
¢ Unitaterally anterior/superior
d. Unilaterally posterior/inferior
¢. Bilaterally anterior basc

£67 There are how many curves in the spinal column?

a. One
b. Two
¢. Three
d> Four
e. Five

1‘7/Huw far can a sacrum subluxate tn an initial {acute) sacral subuxation?
a 116" inch

b 1/8"™ inch
e 14 inch
d. 1/2th inch
¢ 1inch

18. The sacrosciatic ligament is made up of the:
“& Anterior and posterior sacroiliac ligaments
b. Hiolumbar and lumbosacral Hgaments
.. Superior and arcuate pubic Iigamenis
Sacrotuberous and sacrospinous figaments
e, Anterior longitudinal and posterior longitudinal ligaments.

10, The hamstring muscles can become hypertonic due to the:
Coneentric rotation of the ipsilateral innominate,
"by Eecentrie rotation of the ipsilateral innominate

20. The Sartorius muscle can become hyperionic due (o the:
Concentric rotation of the ipsilateral innominate
‘ Tiecentric rotation of the ipsitatera) innominate




[image: image4.jpg]. The ASIS™s of the innominates of the patient should be:

ying on and supported by the top of the pelvie picse
" Lying off the upper end of the pelvie piece.

¢. Lying on and supported by the abdominal picce.

d. Lying ot and supported by the head piece

22. The perineal contaet is usually given while the patient is:
£ u. Prone
b, Supine
. #0n her side
Standing
2. Sitting

23, The perineal contaet is givern:
e 4, In the pocket
-b. On the insertion of the rotuberous ligament
<. On the insertion of the Piriformis muscle
~d._ On the PSIS
e On the pelvie floor

Zii, ‘The apex contact 1s given with the:
¥

(@) Anterior/lateral 1/3™ of the thumb
B Anterior/medial 1/3% of the thumb
¢ Posteriorflateral 1/3" of the thumb
d. Posterior/medial 1/3™ of the thumb

¢. The distal end of the fillh metacarpal

¢ I'ive Cardinal Siens are:
& Pain, bruising. taut erector spinae muscles, posterior-inferior iliwm, high
crest.
b. Anterior-superior PSIS, taut hamstrings. increased sacral base angle, open
dise wedge, tight Piriformis muscle.
High erest, taul erector spinae muscles, lowest frecly moveable vericbra
body rotation, pain, taul sacrotuberous ligament.
d. Gluteal line deviation, toe-ing out, knee-flex, coccyx tip deviation, taut
hamsirings.
¢ Taul sacrotuberous ligament, high crest, increased sacral base angle, tight
Pirtformis musele, prominent PSIS.

2. The Webster Technique s used on
a4 Children
b. Elderly men

Elderly women

¢ Preguant women

e Non=pregnant women




[image: image5.jpg]7 One of the contacts given with the Webster Technique is on the:
a. Sucrotuberous ligament
b. lschiat tuberosity
¢ ASIS
d. Hamstrings
e Round ligament
o When the doctor 3s performing the Webster Technique, he/she is performing
obstetr

29, While using Logan Basic Technigue on a pregnant woman, vou decide (o
incorporate the perineal contact into your routine adjustment. When do you
perform the perincal contaet?

a. Before the apex contact.
“b.>, Afler the apex contaet.

30/ What ty

e of apex contact works best when adjusting a sick patient?
2y High pocket contact

b, Average pocket contact

¢. Low pocket contact

I The ulnar contact can be used instead of which procedure?
a, [Hamstring release
b. Piriformis contact
T¢) Apex contact
A Spinal pressures
¢, Auxiliary contact

v

The Line of Correction (Line of Drive) that is common among the apex contact.
ulnar contact. notch contuct and piriformis conlact is:

a. Lateral, from 90 degrees of midline to straight cephalid

b, Lateral, from 90 degrees of midline to poplileal space

¢. ! Ceiling,

;jc While using the notch contact. which structure are you contacting (thru the
tissue)?
a. PSIS

b. Lschial Luberosity
[ rotuberous ligament
d.. Sacrum

& Ci

COYX




[image: image6.jpg]34, ifa patient™s body is anatomically symmetrical. and then has un A-T sacrum on
the right that he sustains for a six month period of time, on which side does he
have a [unctional short log?

@ Right side

b Left ¢

36, Abdominal contacts arc used:
u.; Before the apex contact

2 Duri ing the apex contact

¢ Aller the apex contact

34. Abdominal contacts are used for:
Spastic paraspinal muscles

b, Tight hamstrings
¢ Suboceipital headaches
id.; Hollow organ spasms

e Pregnant women

Auxiliary contacts are given on:
a. Vercbrae
b. Muscles

‘ﬁ » Vertebrae and muscles

. While applying the notch contaet, the doctor is:
a. Sealed
b. Standing
¢ Fither scated or standing

/\A hx]c applying  iefl apex contact. the doctor is sitting oo the:
) Right side
h. Left side
¢ At the foot of the lable

-"i‘p./&.\’lﬁlc applying the apex contact, the dogtor is sitting:
7y Infine with the patient’s hips

b, Caudal to the patient’s hips

¢. Cephalic (o the patient™s hips.

M. WI ile appl\'m“ the apex contact. o get the best results. the contact is made:
{7 1o skin

b. Thru the underwear

¢. Thru the patient’s jeans

d. Nof at all
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i Children
b. Elderly men
‘e. Acute dise derangement
d. Hollow organ spasms
e. Releasing the hamstrings.

F3. With an acule fow back condition such as an acute dise derangement, the doctor
will apply which procedure Lo best prepare the spine for individual vertebral
work?

4, Unilateral ulnar contact
b. Bilateral ulnar contact
¢, Unilateral apex contact
G) Bilateral apex contact
¢. Double notch contact.

Wl‘he double notch contact is best snited for a (an):
4. Unilateral A-l sacrum
b. Unilateral anterior sacrum
¢.  Anterior sacral apex
d; Bilateral anterior sacral basc
¢. Hollow organ spasms

\4/}/ During the use of cervical pressures, the doctor asks the patient to do what?
4. Have the patient pretend to walk.
b. Have the patient take deep breaths
/5\, Have the patient shake his/her head as if saying no.
d. Have the patient lic there and relas.

Qyz’ Immiediately afler the apex contact, the doctor should:

a. Move to perform spinal pressures
b, Move {0 perform cervical pressures
¢. Move 1o perform the Piriformis contact

Move to perform the ulnar contact
Wash his/her hands.

47. When performing the notch contact. the doctor is contacting the:
Anterior edpe of the sacrum
by Posterior edge of the sacrum
o, PSIR
dy Greater sciatic notch
€. Ischial tuberosity




[image: image8.jpg]¥ The primary reason Lo use an ulnar contaet instead of the apex contact is:
To he able Lo use |

Y’}dn a chironic lefl unilateral A-T sacral subluxation, to which side does the coceyx
Lip point 167
o Right side

by Lefl side

37 At the end of the apex and uluar contacts, do you ask the patient o do?
a. Pretend he/she is walking
b. Shake hisfher head as if saying no

¢

"T'ake a deep breath and let it out?

CONGRATULATIONS! YOU'RE FINISHED.
BE SURE TO PUT YOUR NAME ON BOTH THE ANSWER
SHEET AS WELL AS THE TEST BOOKLET,

SEE YOU AT THE LAB ON FRIDAY.

NEXT WEEK ~ PRACTICAL MIDTERM!





